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Read thefollowing instructionscar efully befor eyou begin to answer thequestions.
IMPORTANT INSTRUCTIONS

1. This Question Booklet is divided into three Parts—Part—I, Part—Il and Part—I11. Part—l contains questions of
Language (Qualifying), Part—II contains questions of General Sudies and Part —IIl contains questions of
Computer Science.

2. Part-l, Language (Qualifying) consists of Question Nos. 1 to 30. In Part—I, English L anguage consists of

Question Nos. E-1 to E-8 (common for all), Hindi Language consists of Question Nos. H-9 to H-30, Urdu

L anguage consists of Question Nos. U-9 to U-30 and Bengali L anguage consists of Question Nos. B-9 to

B-30 (Students are required to choose the questions from any one language out of three languages). Part-I1

consists of Question Nos. 31to 70 and Part-111 consists of Question Nos. 71 to 150. (the questions and their

responses are printed in English and Hindi versions both of Part-11 and Part-111)

All questions carry equal marks.

4.  AnAnswer Sheet has been supplied inside the Question Booklet to mark the answers. You must writeyour Roll
Number and other particularsin thespaceprovided in theAnswer Sheet, failing which your Answer Sheet will
not beevaluated.

5.  Immediately after commencement of the examination, you should check up your Question Booklet and attached
answer sheet and ensurethat the Question Booklet Seriesisprinted on thetop right-hand cor ner of the Booklet
and the seriesencoded in answer sheet aresame. Also please check that the Booklet contains48 printed pages
including two pages (Page Nos. 46 and 47) for Rough Work and no page or question is missing or
unprinted or torn or repeated or question booklet and answer sheet havedifferent series. If you find any defect
inthisBooklet, get it replaced immediately by a complete Booklet with OM R sheet of the same series.

6. You must write your Roll number in the space provided on the top of this page. Do not write anything else on
the Question Booklet.

7. Each question comprises of Five responses- (A), (B), (C), (D) and (E). You are to select ONLY ONE correct
response and mark it in your Answer Sheet. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

8. Inthe Answer Sheet, there arefivecircles- (&), (), (O, (D) and (E) against each question. To answer the
questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your choice for each
guestion. Select only one response for each question and mark it in your Answer Sheet. If you mark more than
one answer for one question, the answer will be treated aswrong. Use Black/Blueink ballpoint pen only to
mark theanswer in the Answer Sheet. Any erasureor changeisnot allowed.

9. If thereisany sort of mistake either of Printing or of factual nature, then out of English and Hindi Versions of the
guestions, the English Version will be treated as standard.

10. You should not remove or tear off any sheet from the Question Booklet. You are not allowed to take this
Question Booklet and the Answer Sheet out of the Examination Hall during the examination. After the
examination has concluded, you must hand over your Answer Sheet tothelnvigilator. Thereafter, you are
permitted to take away the Question Booklet with you.

11. Failure to comply with any of the above instructions will render you liable to such action or penalty as the
Commission may decide at their discretion.

12. Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept in Self
Adhesive LDPE Bag and completely packed/sealed in their presence.
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PART -1
(English Language)

Directions (Q. Nos. E-1 to E-5) Read the
passage given below and answer the questions
that follow :

Kerala is just the place for you if you love
variety. There is something here to please everyone.
You are sure to fall in love with the serene beauty of
Kerala's magical backwaters. When you have
experienced that, you can sample the excitement of
Kerala's bustling cities or retreat into the villages to
see at first-hand how time can stand still. Better still,
take a trip to the spice gardens in the hills, to inhale
the fragrance of fresh cardamoms if that makes your
tastebuds tingle and fills you with dreams of food,
you need not worry. Kerala's cuisine is known for
its spicy hot flavours. The coconut and the spices
give the food - especially the seafood a pungency
that is enhanced by tamarind. Your meal would be
incomplete without appam, rasam, fish curry and
some delicious payasam. To wash it down, sip the
naturally refreshing water of a tender coconut. And
when you had your fill, move into the markets to
shop for gold, handicrafts, spices, cashew nuts and
coffee. Bargain-hunters will never have a problem
since English is spoken and understood everywhere
in Kerala.

E-1. Whyis Kerala just the place for you if you

love variety ?
(A) There is something here to please
everyone

(B) Kerala has magical backwaters
(C) Keralais veryboring

(D) More than one of the above
(E) None ofthe above

E-2. Why should you take a trip to the spice

gardens in the hills ?
(A) To count the spices that are grown
there

(B) Tobuysome spices

(C) To inhale the fragrance of fresh
cardamoms

(D) More than one of the above
(E) None ofthe above
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E-3. Whatis Kerala's cuisine known for ?
(A) Forits bad taste
(B) Forbeingbland
(C) Foritsspicy hot flavours
(D) More than one of the above
(E) None ofthe above

E-4. What gives sea food its pungency?
(A) Coconutand spices
(B) Coconut & spices enhanced by
tamarind
(C) Addition of cocacola
(D) More than one of the above
(E) None ofthe above

E-5. 'Why would foreign bargain-hunter visitors

never face a problem in Kerala ?

(A) Many foreign languages are spoken
in Kerala

(B) Hindi is the language of
communication in the cities of kerala.

(C) English is spoken and understood
everywhere in Kerala.

(D) More than one of the above

(E) None ofthe above

Directions (Q. Nos. E-6 to E-7) : Fill in the blanks
with suitable articles like 'a', 'an', and 'the":
E-6. Ifyoureach Airport on time, you will

catch the flight.
(A) a

(B) an

(C) the

(D) More than one of the above
(E) None ofthe above

E-7. Youshould go for early morning walk.
(A) the
B) a
(C) an

(D) More than one of the above
(E) None ofthe above

E-8. If 30™ April is Tuesday, what day of the
week would be 10t May?
(A) Monday
(B) Thursday
(C) Saturday
(D) More than one of the above
(E) None ofthe above
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(Hindi Language)

frafafea smfea o & onem )y €. H-9 H-12. @ 3R 31/ smoa d = o ?
A H-14 9% & Y9 & S @ oe |

T 3R 9T Tk § Tt o B 9 | WA W o1 3R (A) 2=

T &Y | T T greRt off uen ® A o | |t forern

IHH AER B TOH T4 & | 36k feradi a1 sga Aewe B)  fachtawa

o7 | UEH & Tt WeH-Red SR SgEen # it 7

ST o1 | T iR ot faeht 2 O | safeTe WA s (C) w§

I BT B o o ToT0 Terg Tan o | 31T Prereri ht .

AT T T AT | Teh IR T & TR gt ST 91T T (D) Sudea H ¥ U W frw
o1 | T A gt 3TSTT hl UehAT <TRT | 3 8 § Teh HIeX ‘ ‘

3 sy g o | (E)  3udert # | g T

H-9. @7 Sigem 3113 hl &1 Uk ARl ?
(A) YO ST O R I A1
(B) ¥ 3iR 3T1a U & Whet ° Ugd A
(C) Toh =R T @ TR ekt 3o/ |1 T 1 (A) T &t gk 3 o
(D) ude & U A aAfew
(E) Sugea @ g T

H-13. @it iegreh W 8 RN @ @a 2 ?

(B) @ % ufisrdt g SR

(C) a7 & SAER & HRUT
H-10. T 3 Tl A3 B F7 o 10 1 HeATg <l

o ? (D) SudgE H W TH A AlH
(A) Taeh S B o wwo (E) 3ugemd @ g g
(B) o TRt H UG o Bt
(C) g 3 HRT
(D) Suge @ A U A aferh H-14. 3o frm s 8 st o o o ?
(E) 3ugeta e T8
(A) wEr=AH
H-11. @A FATIH AT ? (B) ue#
(A) =
B) Wi (©) ==
(C) wwzrER (D) Sudea d AU A ek
(D) Sudwd o @ TH | afen
. . E) suwgwua i
(E) suge i@ & ®) e
EEE
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frefefen orafes ot & omem | = |. H-15
@ H-20 9% & 9%l % I & 9/ |

forarsit wa o wEr R H | U 9 | S 32y WERn
A9 % 3299 | off 3= A1 | I AU HE H o @ 1S
SheTel AR €1 T8, Sfe<h Ueh 3Te0 ToHITaR Wit & | 32 wt
T ek T <Y T IR & SR TRreT T T i | 3
FR 775 A A ofi TR o o IR FER o SR FA A |
3Tk 3T TUT 3 HRUT At T ITHT SR FA A | TH
T ot 3Tk Stie A ren ot =nten |

H-15. PrechdRgR %@ siRFn e ?
(A) T =B TeHitan
(B) o3 feems

(C) FwwTmE
(D) 3o & A 0 A arfeen
(B) IgwmARARE T

H-16. TraTsh 3 T § hiq € Hiamn Sd ?

A) fegE®

(B) wwugH

(C) Hd

(D) Sude W UH A AR
(E)  Suer s & g

H-17. PEcfidR ?
(A) RA 1 TSR Figl
(B) WRA % AgH AR | ¥ Uh
(C) et i g HHTg
(D) SudwH A TF & stfem
(E) Iwgwda s
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H-18.

H-19.

H-20.

H-21.

H-22.

GET IT ON
Google Play

i foTestt o s A Ha A ?
(A) 3R iRel & HwRT

(B) wRREgEIHHR®
(C) 3% 37T TUIl % HROT
(D) Sudewd AU A Afere
(B) Sudwd & =g 7

T TR 975g ot 31 B -

(A) =g Hifa e v w5 deer g g
(B) @ Hifa e vrem o dereE g g
(C) Tt & wrateera Hife

(D) 37 & 4 T @ wferch

() Suger & | g 7

T STUfSa Terion 1 iR 2 —
(A) Toramh S s s
(B) Trash =t St

(C) Torarsit =t R

(D) 37 & 4 T @ wAferch
(B) Sudwad @ e

T SATeRaT A R —

A =@

(B) wim

(C) w=aA

(D) Sude © AU A 3l
(E) Sudwd & = T

U IAHYEY T 8 -

A) #

B) 1

C€) =

(D) Sude AU A Al
(B) Sudwd & =g 7
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H-23. ‘oM Wi T8 o | arer § fore wnen it o H-27. s yg o g -

TIHEIAE ?

(A) IUEFHRS

(B) warusR

(C) atfermun Rk

(D) ST A T @ o

(E)  Suefert # & g &

H-28.

H-24. @9 acan vise @ -

(A) s=n

(B) =

(C) <

(D) v A T @ o

(E)  Sudert # | g T

H-29.

H-25. s qg e @ -

(A) Froeh

(B) swureR

C€) wE=

(D) SUde H W UH © AeH

(E)  3uert # | g T
H-26. 3 ‘S’ vrea o Farrfrenehen vrsa & — 30

(A) e

(B) owem

(C€) "=

(D) Sudwa# O uF | AfIH

(E)  Suert # | g T
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(A)
(B)
©
(D)
(E)

fereft oft amrert 1 St 1

T W v A

I THieIT 3Tk WIS Tehe il ¢
U § | U A iR
IugeR W i T

T ‘WA’ I1eq h1 UITHETE IIea @ -

(A)
(B)
©
(D)
(E)

S

4
arit

Suefer § A U A T
UG A A S T

‘Sl et 1 frera gt arerEuE % o U
e R -

(A)
(B)
©
(D)
(E)

o
v

e

e § A T & e
I | BRI TE

‘@eTE W Ul HEreR o A E -

(A)
B)
©
(D)
(D)

A H TS

< o

foret s
Suder § § U W s
Sug o 9 B T
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(Urdu Language)

0ol LT S
LLuiz A
LLuly (B

Llus  (©
Mell e ilhe” (D)
S e (B

IS LA UG e 2T
S U1y
£ @)
o’ (B
uéf,y ©)

Sie K Sl (D)
S Uit (B)

K g B e U 0
oW
Jer )

SeH @)

Ze (©)

Sie K Sl (D)
S Uit ()

=¥ ()
- (B

£ ©

S Ll Sl (D)
S Ui (®)
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.U-11

U-12

.U-13

.U-14

2 e St d e Pl S K2
SELUF e et Gt 1LB0% gt
P S TR U
cLHSUFE Ue e Gl S
bl Ul b bigttid s O
Sl ) £ sl o
SO Tl e Pt U - e (s
e O

DA T AT e ST
KT A5 S L U e U
e (I’”Jf@f’g,ﬁ/m_»,g:w/ui.ti@!_%wdgs
JSb Kf;‘%tﬁg‘. éf«g}:—uhé%é%
! («u,;,,ﬁ,cg‘;,‘/Lu,jif@u’,,,ﬁ@_‘é;m

EXIIN S SUPN AR )

5 (A
= ()
#6  (C)

e L J0e” (D)
S Uit (®)

GIEEL A ESS U-10
K2 (A)
ke 2 (B)
K G (O
e L JiUe” (D)
S e ®
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S Guitgg e DTt U-17 Sl LG TSt B

;u%uué;gjm (A) ‘_‘L&?ﬂ%&q}uﬁu&guk_Jﬁl;'é_,,l‘fgplé_
= loile B z " e .

® ®) d/k:/}b/':ug»{iu: lpd}b”.’.’u@/’uj/ﬁd/d_l@(

e lwdle  (O)

fiefle Fl” D) i L Sl E izl

S e (®) STt o = yit.K

f\Rbi P Qe & U8 -
C Lu,} (A) Jfg/fjéégﬁé%gzhfuf"&f)ﬂy'

Lk (B &gLu,//,luy,umu;!sg?ung)ﬂc}

LLt © UUlea LA U bl P

S Ll il (D)

% SASUL bl A1t st
S vt (B ‘ T

9 T8l Qe ot Ui U

m}uufugﬂdm{umwujw 2U-19 S5t ton
‘Ut Qb
Uil (A)
Uit (B) ?‘Ld/;/ggj.éoféd/l. .U-15
uE(© ®
Hie L fler? (D) d (B
Uﬁfd/f—d:m*") (E) I (C)
S ULUULI Sy U020 N L Sl (D)
U (A) S S (B)
Jik - (B)
Uit (©) .
MLl Sk (D) QAL U ZUle - ”’U}’&Mdf -U-16
S Ui (®) fe ol
e Lot U1 fmg &)
e (A U/ﬁt"é (B)
o5 (B) =i (O
S (C) ikl e e (D)

Sie K Jille” (D)

% e e (E
e i (®) e UV (E)
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(Bengali Language)

e (B-9 (3t B-14)

FERIAR ol 72 FRew Ao, T8 @1 @l
2300 I #Ale, S oves fee a1 | fofq e gl
forem, 93 wife gl 223ifete, @8 =HS 3R
TR a8, SRl 72y 283 41 | (19 Fe Jian 7120,
SR (14 e ToifFe 236 | @3Te T [ere 230e
kAW NPT ‘@, 2 (R Sse ©iRid «ics forifs
A[BNCR; TS S 377 712 2ile 2303w, eARieces
B (e ARt @R o SmETed 47! #iEEe |
FLIIL A SR AT 2ABCFCE ST e, fofe
TR 2 FAW T2 A IO FOICH G F® 230 |
FPIRAM ST, TP SR T AT e |

TS TR el SRR PN ARFCP A,
“@ il [NRICe, wiRIte (ost Wi 6 2303 2 SieME
«Q IS S SN I 230 1 | S ST
23AMZ | O SN €3 72 (T, JLRAN O SR
erorial T T O A (F T 2 (7 AT, ORI @
e (& TH IR (F9 AN oo | el
S @B S FICE S G0 o1 a-wfzea
I IR 0L BRI |7

F AR OIS ©7 (@5 @R ff A=
forera 7 fetaw | AR St mieiew 23ce, fofq
AR Sreits Abemifetem @, T fam T SeE
S F9, SN AN MO IO (ONE AR |
AT e OIRTe el 22t | AR
I A g g Wi Az Ffce v | s
QS g FTS AT 230 BIfRA 7124 | G230l
Tl 1 Afern FiRIAR Sl (7 ARRY &2t SRl
22N | FRAFINCER Wi &1zl SrRIfeerd 22w e (7
I 829 |

F A e JRTS AT Fi2 ([, St
G YN ZIACZA | 7 (R SIS
e 2305 | SR FFIAR o], TEHCF SR IR
ol pifereted, RA SRe Fox 230, AT,
‘SN it e, S 6 2 SsiaE TR A,
o wizE 17
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AN el e, Ny sy, e
1A 3ZeT | e ST 20O T Wwtad g2l
T o 23300g; Sredd AT @F NS A
SfEIfF 2303 | Sl OIRIE @RE, Do S
B OIZICE T SR, G2 S o1 | iisifer @2 i
FeE Ffcers fil e wface 21 1”

N G A, SN SN2 @0 *iofel
Ffacely, S FGANCE Ao FU Af4F Tg I |
I AR @ A F2A; SAioife ey T 17

ST FAT T IR | SRE G M 9% oiwed
GG SFIeE T @l e | 2 @R s AR
FfATeT, 3 = e =1 | I A SRS [/
TR S IR (F, G0 S 902 5o | 2T
UL T 2305 SIPCA | TR ol (@ o2,
(1 MRS eTo- e MRWREN SR (2 20 bt
2 | @=FCel SF wifm 12, oI W (T SRFNE T2 |
el ol BT 7S 230 | FL A, A @
SR SIS TRy e 127 (oICe |

fofe Sifewrs Ao Hfseon sz e
TSI QI T 239, SEUcae OiRid Yy 234 |

ToRE A F AF AREACE O
Toifere wE (reRce | e ik qifermt aferat
SR e Aibice @3l A0 Meem 1, =94 9tz
AR | FCAFT ACEF, AT e (@5 =@
SR S SN &y Tg AR, g i
I R S, ifi aREE s Tonm I3,
IR FGIReN Tovd SR | FIMLIAGH GFHCE
IS AL T 230e | FIRIG TR AR
T5ifeq TQRE FRCO A0 |

Fifs AR @z | e S g TareE
(IS AETRANE ©I2F @3 foe | fofd fKitapal s @,
AN @z erereife @t fres, wifs o W 363,
G (FZ O 2 | S« (I A, TR [rama
faat Kz 2o 2309, ©@ oRiF @ | @ee @7
Tl 14 | 92 eI I 1] FiFiaR [aites
(I Trwlal < RN, ORI CEHC (S TR |
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B-9.

B-10.

B-11.

R el (& g2t 23 ifRce 2

(A) r=E =P I se

(B) = e =l

(C) =T e e @ zew

D) TR Ty A (AT T

(EB) Tz @b

FIFIL A (T A O FOIF ToifZe
230 2

A  FRER R @[ N

B) A GEICS

(C) Pfetm sy

(D) ToASealer N AiFa (A Al

(EB) ToiEE @ T

AT el FAINL 77 I [ o
IRt 2

(A) = A=y

B) T TY (e

(C) TR a=

(D) ToASealr N AiFa (A AT

(EB) Tz @b
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B-13.

B-14.
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FFIL A & AR [ACEd Swpisl
el OIRICs e IR ?

(A)  ETREIE S oeF foe

(B) e sifeez! s

(C) ToR® oiig 1 e

D) TR Ty A (AT T
(B) ToAtEa (@Ieaig w1

TR TS (@ IR A7 502 SR
FACS S Z30E 2

(A) <=E iy 79 26

B) AR SRR

(C) Dl ey

(D) ToACealr N AiFa (A AT
(B) ToiEE @A

FIRIIIY A & FAAT Toifeq g
fate sface wifarcere 2

(A)  PICETF AR A

(B) A« SECArcH

(C) ifa Fhifdele woyz S =1 fcasa
fa

D) TR Ty A (AT T
(EB) Tz @b

[=] 35 =]
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2Rt (B-15 (4t B-20)

i Ffeer—aeg s IFCelR, SN (o WA =@
S FEAZ |

S FfeAT— W, SF-FRS B I (ORI
ST 30 A1 2

7 iz —4w w3 2ol w7 @ ey Aea
[ N O €OIF S2R_TE MiRTe AT

A S g qeARd "eT [l oS
Rl Ffee—eael, ggfon W9 @R (ORI VA
COI-G] 2T [Z | 22 (Y A T DA (R
CSINITRE SIFCaa 24l s[eilfy |

e wfew ot e —odfie A== Tred
TP F(F ORIAR SNE ©F |

AN FEE— e 0o wEsl IR, FTR
GFB! A (RS TS 2 | S GOl TS
Aol Wam AFe godid I OF CRIRTS 3w
AE G5! 4TS 2T Tofurad w2 ¢ I @
93T 29w FRACR, G (SN FHAL Al FEAAZ |
ify e Aiee sibees s ffm aifmile, am
TG SRpTS FCEN O AT FEH-SINF T SI51
IR w2307 |

35S AT FZET— (T i AN, (F74F
3R AT ([ TAE (1E002 Felfe F=0R=E-gfil 2val
JferE Afes =1l | (@ AT Afee waalfd e core |
foe wxifs wfn wifavgss Sifgpcia St G- JoreR
SIS FIAT 2€ T O (6! (O (1 Freifs
TR NCAIZIACH FT T 1 | (FTF R (IO TI518
@izl eI, ST | (2 BRI, AT e
12 R4 39, (T S-S CISEFF (G, S
B R AT (TART TF 237 G N |

(I G0! 7lf72 e (6B FRe, FRFA—aF
(O 7 WLE %, O THH AIFAH 2306 FIOR
AT T 2 AL RwoF |

13/HV/M-2024-26/HS-526-E

11

GET IT ON
Google Play

ife sfze—aibrR o 12l Ior wr ada fF;
BfouTey AR SHRTRT @R @S =Ere F! FRre
237 | o @ Sorg (Frewere e | 2bie
TIPS FfeeT—CT! HIsFR AeRMR; SN GF6] 915
M AGTETR—

(o PEe — (ORI AN ETRIGI Bie =7 wfice

it = mRTeE | 799, 9 210w, TR0 S 1S
AT

(TefFAR SMC*R [Reeta (2 S el S
T G-, T FFE oeTtea ©eim 23te TR
it 2N wifeet w3k frore Wdig Sesticrz set
TS 23| PRI AT |

T ARGTS NfaeT —gCE ey 233 AW AW
AR F2re W, G2 foord foera SIwal Giois
@RS SAlf7 T 5= SR S SoF 7, %
ST FOI[ A2 (T, SR A3 Fgres @1 75l
fafera fferan aifss siica =11 51l fA6HRG 37, ol
W, THATH T A, AT 0SS THOFA I | (7

Il TS FIeT, SRS SITEARIANS G2 |
B-15. 7w sre, aFfer v 0w Fl 20z
(A) R
(B) wfeaga
(C) SRz
(D) THRTSSER ey G (AT H
(BE) ToAtEa (@Iaie a

B-16. AR 3o, 20T BI QI O WA ALY

Il AT TR ?

(A) @ AT (72

(B)  feiieT 2iten

(C) ey &t

(D) ToRCeSR ey G (AT F
(B) Totaa @Iaife «

[CoF ] [P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

7

B-17. ¢ (3 2i3eq WA SR (TTS AT 11 2

(A)
(B)
©
D)
(E)

B-18.

RERICRCERRA]

OlF eI FIC

OIS B FICA

TS E T N0 G (AT LT

35 FeIT (#1395 G2 AITTH A=K ool

PLACR ?

(A)
B)
©
(D)
E)

B-19.
(A)
B)
©
(D)
E)

B-20.
(A)
(B)
©
D)
E)

Froifi qag Fsjef

EKISISERCERC |

ERISIEEtS L o

TARCS SR A G (A ST

IR ~AfRRICR I 7 Fi e

BEISERET
AJCHS =T

I G GACHA IHA

TARGS ST AL G (A ST

AN T, NCF FO I 2

TR

GRS G2 TR

AN IR SHATIES

TARTE SR N0 GG (AT W&

13/HV/M-2024-26/HS-526-E

12

B-21. ©

B-22.

B-23.

B-24.

GET IT ON
Google Play

e Wi &1 Fteraig (it e e |”

AT S0y Afore T 27—

(A)
B)
©

(D)
(E)

(oI FETesleT (MRBIC SN0 €W felterond
KIS

e Gl €A fterend mie fwe sl
X

MR o1 O &7l fereraig e =it
TRCE SR A0 G (AT LT

“ . ARCEE (@ TAIFAL...” (@RifEe omfba
S foyef T |

(A)
(B)

©
(D)
(E)

T35 0T (@ AR, TGN FHA |
(R0 (Sreei) fafite @ e (99);
ffsre sesj

COTHT Ml TIF T
TRCE T N0 G (AT A&

‘....coMzeefe A AT S AeF 1 QAT TAE
G (P o105t Tz 207 2

(A)
B)
©
(D)
E)

B

FifeTest

78 @R T TeACTH

TGS SR A0 G (AT LT

AR *%(G (P SIS ?

(A)
B)
©

D)
E)

e
R

o () g A (Tf) widfie
I WA

ToifaCeafled W0y O (ATF IS

[=] 35 =]
E


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

7

B-25.

B-26.

B-27.

‘BIAGE BT (O AT HICTF AN | @ifFe
o7 I ¢ [Kefe 21—

A) S T Refe
(B) Ecs ¥ Refe
(C) =wdrce ¥ Refe
(D) ToRCSSR ey G (AT F

(EB) Totam @ieaifoe o

S (@D I - 97 ML 7 2

(A)  TeoE

B) oM

(C) et

(D) ToRCSSR ey G (AT H

(E) ToEd (Ieoe @

AT < 2 QT @ 23 (@i S
ST AL ?

(A) B

B) sFfERs
(C) =aefe Al e
(D) ToRCSSR ey G (AT F

(B) Totaa @iaifbe o

13/HV/M-2024-26/HS-526-E

13

GET IT ON
Google Play

B-28. “GR1-siAl I 401" —GR-SiR *=io Jresife
ferefar zeet |

B-29.

B-30.

(A)

B)
©
(D)
(E)

GRaFAl OR (Tfie THG) [FAS
L]

G @ ol (W)

ST O (3T OLoF)
TS M0 G (ATF AT

“oaf%a I A7, 2T @, GR_T-AW 2

— G- (I T2

(A)
B)
©
(D)
(E)

FEIAET “@” frefe
TigFae PR “9” [efe

o o

TR “9” [Role

ToifaCeafe™ M0 G (ATF G

‘TR AT A N TF TACRFACH |7

— NI Jl A2

(A)
B)
©
(D)
(E)

ey

SRR

el

THARCS ST 02 QT (AT AT

[CoF ] [P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

31.

32.

33.

34.

35.

e

PART - 11

GET IT ON
Google Play

(GENERAL STUDIES)

Which of the following is the value of

(x+1/x)* ?

(A) x>+ 17

B) x*—1/x?

©) x¥*+1x* +1

(D) More than one of the above
(E) None ofthe above

An article is at 10% more than the CP. If
discount of 10% is allowed then which of the

followingis right ?
(A) 1%gain

B) 1%]loss

(C) nogainno loss

More than one of the above
None of the above

D)
()

By what number should 81 be divided to get
a perfect cube ?

A) 3

B) 6

<© 7

(D) More than one of the above
(E) None ofthe above

The difference between two whole numbers
1s 66. The ratio of the two numbers is 2:5.
The two numbers are ;

(A) 60and6

(B) 100 and 33

(C) 110and 44

(D) More than one of the above
(E) None ofthe above

In a parallelogram ABCD, angle A and angle
B are in the ratio 1:2. Find the angle A.

(A) 30°

B) 45°

(C) o60°

(D) More than one of the above
(E) None ofthe above

13/HV/M-2024-26/HS-526-E

14

36.

37.

38.

39.

40.

The height of a cylinder whose radius is 7 cm
and the total surface area is 968 cm? s :

(A) 15cm

B) 17cm

(C) 19cm

(D) More than one of the above
(E) None ofthe above

If (-3)™*! x (=3)°=(-3)’, then the value of m
is:
(A) 5

® 7
© 1
(D) More than one of the above

(E) None ofthe above

Ifx and y are inversely proportional, then:
(A) y/x=constant

(B) xy=constant

(C) x/y=constant

(D) More than one of the above

(E) None ofthe above

A piece of wire of resistance R is cut into 5
equal parts. These parts are then connected
in parallel. If the equivalent resistance of the
combinationis R', thentheratioR/R'is

(A) 1725

B) 1/5

(©) 25

(D) More than one of the above
(E) None ofthe above

An electric heater of resistance 8 QQ draws
15A current from a service mains for 2 Hrs.
What will be the rate at which heat is
developed in the heater ?

(A) 220 watt

(B) 120 watt

(C) 210 watt

(D) More than one of the above
(E) None ofthe above
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(A x>+ 1/x2

B) x*—1/?

©C) x¥*+1x* +1
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(B) Swdwdawe i

Teh i@ €1 & 10% 3tferes W g | 3t 10%
Qe ol IgAfa g Al Frefefea A a s wadi @ 2
(A) 1%

B) 1%zf

(C) FAcmuagm

(D) 3o & AT A arfeen

(E) Sudwd & =g 7

qut &1 9T S o foru 8 1 =ht fora wiean & T
forn ST =nfRu 2

A) 3

B) 6

<o 7

(D) Sude A TH A 3l

(B) Suger # & hig &

31 qui GEE % ofie 3T 66 | 3F1 aEma
1 U 2:5 3 | I TEAm E

(A) 6036

(B) 100 3 33

(C) 110 iR 44

(D) Suge A TH A Afw

(E) Suder® & g &

Tk TR Tgs ABCD #, %ot A 3iR <ot B
31U 1:2 2 | 1ot A 71 <hifeTe |

(A) 30°

B) 45°

(C) 60°
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(E)  vofer & & g i
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(B) 17

(C) 193w
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(A) 5

B) 7

© 1
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41. Which of the following lenses would you 46. Which one of the following types of medicines

prefer to use while reading small letters found used for treating indigestion ?

in the dictionary ? (A) Antibiotic

(A) Aconvexlensof 50 cm (B) Antacid

(B) A concave lens of 50 cm (C) Analgesic

(©) Aconcavelens of 5cm (D) More than one of the above
(D) More than one of the above (E) None ofthe above

(E) None ofthe above

47. Thetask of processing citizenship applications

42. Thehuman eye forms the image of an object under the CAA will be undertaken by
atits (A) Postal Department
(A) Cornea (B) Census Department
(B) Irs (C) Central Security IB
(C) Retina (D) More than one of the above

(D) More than one of the above (E)
(E) None ofthe above

None of the above

48. In which of the following country India

43.  Which of the following is not a part of the launched its UPI ?
female reproductive system in human beings ? (A) Thailand
(A) Ovary (B) Myanmar
(B) Uterus (C) Mauritius
(C) Vasdeferens (D) More than one of the above

(D) More than one of the above (E)
(E) None ofthe above

None of the above

49. What is the name of space craft to be

44.  The anther contains launched by ISRO in 2024 to carry
(A) Sepals astronauts ?
(B) Ovules (A) Akashyan
(C) Pollen grains (B) Gaganyan
(D) More than one of the above (C) Bhramyan
(E) None ofthe above (D) More than one of the above

(E) None ofthe above
45. Asexual reproduction takes place through

budding in 50. Which country is nota member of G 7 ?
(A) Amoeba (A) Russia
(B) Yeast (B) Canada
(C) Plasmodium (©) USA
(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above
E{5E

13/HV/M-2024-26/HS-526-E 16 OF]


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

41.

42.

43.

44.

45.

eY

7

Tereht vregenia ® for@ B2 31arl <l ugd |H g
= 7 A A e TEe w7
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(C) 5 cm wishA gl 1 FTEAA
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(E) Sudwd & =g 7
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TEE ?

(A) =t

(B) uftaem

(C) grRuew
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() Swdwdawe

e i a SR AR SR T R AT AE g ?
(A) st o
(B) YA

(C) yprenieet

(D) Sude A TE A 3l

(B) Suger & 8 hrg T

(C) TR
(D) 3o & A U A arfeen
(E)  vofer & & g i
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(A) orfen#

(B) dred

(C) vwremfzamd

(D) 3o & A0 A arfeen
(B) Suger & 8 hig T
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The process involved in achieving Green
hydrogen is

(A) Electrolysis

(B) Dehydrogenesis

(C) Dehydration

(D) More than one of the above

(E) None ofthe above

Which technology can be used to revise

deceased individuals ?
(A) Deepfake
(B) Al

(C) Chatbot
(D) More than one of the above
(E) None ofthe above

In cost of living index parameter 2024 which
country is better than India ?

(A) Nigeria

(B) Pakistan

(C) Bangladesh

(D) More than one of the above

(E) None ofthe above

Who supported Gandhiji in Champaran
Satyagraha in 1917 in support of farmers ?
(A) BirsaMunda

(B) Rajendra Prasad

(C) SatyaNarayan Sinha

(D) More than one of the above

(E) None ofthe above

Which is the moon-like planet ?

(A) Mercury
(B) Mars
(C) Earth

(D) More than one of the above
(E) None ofthe above

On the basis of fossils which is the origin place
of man ?

(A) RiftvalleyofAfrica

(B) Central Asia

(C) Jerusalem

(D) More than one of the above

(E) None ofthe above
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In India dry point settlement is found in
(A) Flood prone area

(B) Bikaner

(C) Aravaliregion

(D) More than one of the above

(E) None ofthe above

In which district of Bihar Paddy crop

production is maximum ?
(A) Bhojpur
(B) Rohtas

(C) Nalanda
(D) More than one of the above
(E) None ofthe above

On which mountain is Tehran situated ?

(A) Alburz
(B) Zagros
(C) Makran

(D) More than one of the above
(E) None ofthe above

The highest peak in the Eastern Ghats of India
is:

(A) AnaiMudi

(B) Kanchenjunga

(C) Mahendragiri

(D) More than one of the above

(E) None ofthe above

Which of these statements is not a valid reason
for the depletion of flora and fauna ?

(A) Agricultural expansion

(B) Large scale development projects

(C) Grazzing and fuel wood collection

(D) More than one of the above

(E) None ofthe above

Inwhich district of Bihar silk textile production
is maximum ?

(A) Madhubani

(B) Bhagalpur

(C) Aurangabad

(D) More than one of the above

(E) None ofthe above
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(A) St

(B) U s
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(D) 37 & 4 T @ stk

(B) Sudwd & =g 7
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(A) FrsiREn

(B) Uik

(C) sretew

(D) Suged | W UH | AR

(B) Suger # & hig &

foremi & fRa | miefishi A 1917 & ovura gaame
forer wgam A feran on 2

(A) e guen

(B) TR

(C) weamrE famg

(D) Sudew AU A Al

(E) Suderd & whig &

TEHI AGYE U B E ?
(A) T

(B) W

(C) uet

(D) Sude W UF | AfeH
(E) Suder®i A g &

SHETYH o HTR T A Icdf g hiA-HATE ?
(A) arshreRt < e arél

(B) weawivmEn

(C) <&Te™

(D) 3o & A0 A arfeen

(E) Suderd A whig &
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63. Who was the viceroy of India during the 67.

Jallianwala Bagh massacre ?

(A) Lord Curzon
(B) Lord Chelmsford
(C) LordIrwin
(D) More than one of the above
(E) None ofthe above
68.
64. The first President of the Indian National
Congress was:
(A) Dadabhai Naoroji
(B) W.C.Bonnerjee
(C) Badruddin Tyabji
(D) More than one of the above
(E) None ofthe above
69.
65. 'Who among the following is also known as
the Grand old man of India ?
(A) Bal Gangadhar Tilak
(B) Dadabhai Naoroji
(C) Gopal Krishna Gokhale
(D) More than one of the above
(E) None ofthe above 0.

66. Which of the following movements was
started by M. K. Gandhi ?

(A)
B)
©)
(D)
E)

13/HV/M-

Quit India Movement

Non cooperation movement
Swadesi movement

More than one of the above

None of the above
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Who was the leader of the Bardoli
Satyagraha ?

(A) Sardar Vallabhbhai Patel
(B) Bal Gangadhar Tilak

(C) Jawaharlal Nehru

(D) More than one of the above
(E) None ofthe above

Who among the following is not associated
with Home rule movement ?

(A) Annie Besant

(B) Bal Gangadhar Tilak

(C) Sarojini Naidu

(D) More than one of the above
(E) None ofthe above

Who founded the Bihar provincial congress
committee in 1920 ?

(A) Dr. Rajendra Prasad

(B) Anugrah Narayan Sinha

(C) Jai Prakash Narayan

(D) More than one of the above
(E) None ofthe above

The All India Kisan Sabha (AIKS) was
founded in 1936 in Bihar under the leadership
of :

(A) Dr. Rajendra Prasad

(B) Jai Prakash Narayan

(C) Swami Sahajanand Saraswati
(D) More than one of the above
(E) None ofthe above
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63. SfTATETE 9T hiE o SR WRA 1 STEEE i
qr ?

(A) wrEEH
B) S

(C) g

(D) wordam & v & arferw
(E) Suder® & whig &

64. TR THE HIF & UgA ATA L
(A)  FrErTE AR
(B) =1 W <l
(C) =eEan deaastt
(D) 3udaa # 9 U A AferR
©) i dwd

65. FataRaad @ fraent fue tiee 87 st siear’
F Y TS ?

(A) s TmER foeren

(B)  ara W ARht

(C)  TMuTe T TS

(D) Sudera ® 9 U A AferR
(B) S| e

66. frfeiRaa & & i W NS TH. .M gRIIE
e ?

(A) WRABIS R

(B) @A e

(C) eyt argrerm

(D) s # @ wh A afrs
(B) Sudwd & =g 7
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ARG FeARIE 1 =l Shid T ?
(A) HER TG WG Tt
(B) s TmeR foeren

(C) e e e

(D) Suder ® W U A Aferek
(B) S a el

Frafeien # | ®F gW & STigeH | arag TE
ar ?

(A) uh e

(B) T TmeR foeren

(C) wasH =g

(D) Swfwm A @ sl
(B) Sudwd & =g T

oREm 1920 3. H forgR TIGToTeR shitkd SRSl hi T
ot ?

(A) = TR

(B) s v fergn
(C)  TSrehTyT ARTE0T

(D) Sowa # @ v @ s
(E) Sudwd & =g e

1936 # stftaet e foram & (T, 318, . )
& wero fagr # formeh Iqra A gd oft ¢

(A) =i TS TR

(B) <& 9okt AR

(C) vawi agsIg wEadt

(D) 3uge A TH A Afw
(B) udemd @ =g T

OO0
[CoF ] [P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

PART - 111
(Computer Science)
71. Digital circuit can be made by the repeated 74. An OR gate has 4 inputs. The number of

use of the . words in truth table will be
(A) NAND gate (A) 4
(B) NOR gate B) 8

(C) AND gate ©) 16

(D) More than one of the above
(D) More than one of the above

(E) None ofthe above
(E) None ofthe above

72.  Which of'the following is correct for Digital

Circuits? 75. Whendoes anegative level triggered flip-flop

(A) Th 1 onals f in Digital Electronics changes its state?
ey use analog signals for

communication (A) When the clock is Negative
(B) They process information using

continuous voltage levels (B) When the clock is Positive

(C) They are not suitable for high speed (C)  When the inputs are all zero
operations
(D) More than one of the above
(D) More than one of the above
(E) None ofthe above
(E) None ofthe above

73.  Which of the following is an example of a 76. Whatis the result of the operation 1010 AND

digital Electronic? 1100 in binary?

(A) Computers (A) 1000

(B) Mobile phones (B) 1110

(C) Digital cameras (©) 100

(D) More than one of the above (D) More than one of the above
(E)  Noneoftheabove (E) None ofthe above

O}H0]
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OR 72 # 4 3YE BId §| Icd aIforeht § IIsgi

PART - 111
(Computer Science)
feRrea afde o TR—TR IUTT | = 74.
ST EeRaT 8l

(A) NAND gate

(B) NOR gate

(C) AND gate

(D) swjw & v @ it
(BE) S a e

fefte afhe & fote Ftoiaa @ | = a1 @@

3 75.

(A) AT e 1 HeR ® IR o

TR alieest TR, A G o Suhw o Sisk
FAE

f waTer 8 3 391 3 fore SugEa T R
SugE § © U W Al
(E) Suged @ T8

(B)

©)

(D)

FrfcrRea & & i fefvree setergites 1 saew
2

(A) @

(B) HETEel ®i

(C) fefeasm

(D) oo § & v & o
(E) Suded & =g 7
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(A) 4

B) 8

©) 16

(D) swdem i & T @ ot
(E) Suger & | g 7

fefren soraeiom @ TenrTee T foTR fwera -
FATT U el el Tt 2 ?

(A) smudiFiRad
(B) el Tt bR &
(C) SmafigTge A
IUger | ® Uk | It

SuGerd H B IS T

(D)

(E)

A W YA 1010 AND 1100 =1 uftomm
FE?

(A) 1000
(B) 1110
©
(D) swjw & & it

(B)  3uder o & g T
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77. Inahalf-adder circuit, what are the outputs? 81. Convert the decimal number 1234 to binary,
octal, and hexadecimal. Which of the
following options correctly represents these

(B) Difference and Borrow conversions?

(A) Sum and Carry

(C)  Sumand Difference (A) Binary: 10011010010, Octal: 2322,
(D) More than one of the above Hexadecimal: 4D2

(E) None ofthe above (B) Binary: 11001110010, Octal: 1712,
Hexadecimal: 72A

78. Which of the following is the type of Read (C) Binary: 1 ! 1901 10010, Octal: 1642,
Only Mem ory (ROM)? Hexadecimal: 3CD
(A) PROM (D) More than one of the above
(B) EPROM (E) None ofthe above
(C) MROM

(D) More than one of the above

(E) N fthe ab 82. Whatis Booth’s algorithm used for?
one of the above

(A) Binarytodecimal conversion

79. WhatisaPLA? (B) Decimal to binary conversion

(A) Programmable Logic Application (C) Binarymultiplication

(B) Programmable Logic Array
(D) More than one of the above

(C) Programmable Logic Architecture

E) N fth
(D) More than one of the above (E) one of the above

(E) None ofthe above

83. Which of the following is error detection code

. : o
80. How many select lines are required for an used in digital logic?
-to- i ?
8-to-1 multiplexer? @A) H ing code
A) 2
(B) Cyclic redundancy check (CRC)
® 3
ecksum

©) 4 (C) Check

(D) More than one of the above (D) More than one of the above

(E) None ofthe above (E) None of the above
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77. RG-S Aiche § HILYE FATE ?
(A) Sum and Carry

(B) Difference and Borrow
(C) Sum and Difference
(D) e it & v @ o

(B) 3o o & g T

78. Tr=feRea ® & i &1 O et wa (ROM)

FHITRRE?

(A) PROM

(B) EPROM

(C) MROM

(D) ool & vh @ o

(E)  vuer & & g i
79. diue (PLA) @ ?
(A) TTHEA TSR TRy
(B) SIHEE AR B
(C) e TSR ATfeheaFer
(D) oo @i & vh A o
(E)  vuer s & g i

80. 8-z-1 wediwrerer (multiplexer) & feru fohat

ST ISl <hl STTEgarehal 2l 8 7
(A) 2

B) 3

©) 4

(D) Sudea® W UH | Aferh
(E) Sudwd & =g T

13/HV/M-2024-26/HS-526-E

25

81.

82.

83.

GET IT ON
Google Play

TWAG AT 1234 it FEal, Afwed IR
FHFATSHA | Tae |

FrafeiRea # @ == o forerey 33 waaRt = w8t
FTNUIINAZ?

(A) =@ : 10011010010, sifereet : 2322,
TR : 4D2

(B) @mdt: 11001110010, stteres : 1712,
TR : 72A

(C) amgdt: 11100110010, steres : 1642,
TEeRme : 3CD

(D) SugeH W UH | AR
(E) udwd @ =i 7

T Ueniiem o1 3y fora fore fran wman 2 2
(A) ET A IHAS FUTRT

(B)  SmweTa & Sl SR

(C) =R

(D) Sude d A Uk | sAferw

(B)  3oderd o & g Tl

FrteTitaa ® | & 1 [2fvree @it | Sge I
TEAH RS R?

(A) mwe

(B) < aifeien it (<o)
(C) <wEm

(D) T i @ T @ ol
(E) Suger # & hig &
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84. When performing BCD addition, what is the 87.
maximum value that can be represented in a
single BCD digit?
A 2
B) 10
©) 15
(D) More than one of the above
(E) None ofthe above
85. Convert the binary number 1011.1101 to its
decimal equivalent. Which of the following is
the correct decimal value? 88.
(A) 11.75
B) 12.125
(C) 135
(D) More than one of the above
(E) None ofthe above
86. What is De Morgan’s theorem used for in 89.
digital logic?
(A) Simplifying Boolean expressions
(B) Implementing NAND gates
(C) Performing binary addition
(D) More than one of the above
(E) None ofthe above
13/HV/M-2024-26/HS-526-E 26
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What is the purpose of the “don’t care”
condition in digital logic?

(A) Toindicate that the value ofa variable
does not affect the output

(B) To prioritize certain inputs over others

(C) To ensure that all possible input
combinations are covered in truth
tables

(D) More than one of the above

(E) None ofthe above

Which of the following data structures stores
elements in a non-linear relationship?

(A) Stack
(B) Queue
(C) Array

(D) More than one of the above

(E) None ofthe above

Which data structure is used for efficient
searching, insertion, and deletion of elements?

(A) Stack

(B) Queue

(C) HashTable

(D) More than one of the above

(E) None ofthe above

[=] 35 m]
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84. S Siga T, Tohet SIS 37k | Aferhaq 87. feReaadd “‘Tew” Euldmsesmag?

o1 v v AT HeERAT 2 ?
(A) o2 3Fm * & form for ferelt =R =1 wm
(A) 2 JAT3TYE hY THTFS TEl hial 8
B) 10 (B) %S 3YE i gEX WR ARl &
© 15 (C) ¢ gRfFa wen s o v s

] TS T Aiferentai 8 ynee §
(D) SugeH W UH | AR

) ‘ (D) SudeH W UH | AR
(E) Sudaad @ g T

(B)  3wder o & g T

85. s EEat 1011.1101 it 3Heh SyMcTa THeR
# weel| FrafeRaa § @ #F @1 93 @vmeE ow 88. f=foifaa @ @ =iw @t 31 W= deal A -

27 g w0 H Hay AU FAT R ?
(A) 11.75 (A) Stack

(B) 12.125 (B) Queue

(C) 135 (C) Array

(D) Sudwd AUk A Al (D) Sudea® W UF | Afeh
(E) udwd & =g 7 (E) Swdwdawe

86. e ek # & At v vt suamT form foru feman 89. form e Tt o U fokan ST B, 9Tl @i,

A L? TfFre 31 deal ot fereio 2

(A) Fferem srfreataaat s TR s (A) Stack

(B) NAND g &t sEt<eH (B) Queue

(C) e Ag e (C) Hashtable

(D) Sudwd AU A Al (D) Sudea H A Uk A NfrR

(E) Iofor @ o8 w4t (E) Suger & | g 7
(=5 =]
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90. In abinary search tree, which subtree of a
node contains elements that are greater than
the node’s value?

(A) Leftsubtree

(B) Rightsubtree

(C) Both subtrees

(D) More than one of the above
(E) None ofthe above

91. Theresult evaluating the postfix expression
105+606/*8

(A) 142
B) 213
(C) 284

(D) More than one of the above
(E) None ofthe above

92. Inabalanced binary tree, the height of two
sub-trees of every node can not differ by more
than

A 2
B) 1
) 0

(D) More than one of the above
(E) None ofthe above

93.  Write the output of the following program:
intal ] = {1,2,3,} *p;

(A) Junkvalue

® 3

(C) Runtime error

(D) More than one of the above
(E) None ofthe above
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A queue has configuration a, b, ¢, d. If you
want to get the configuration d, ¢, b, a, you
need a minimum of

(A) 2 deletions and 3 additions
(B) 3 deletions and 3 additions
(C) 4 deletions and 4 additions

(D) More than one of the above
(E) None ofthe above

The order of the binary search algorithm is

(A) N
(B) Nlogn
© N

(D) More than one of the above
(E) None ofthe above

The preorder traversal of a binary search tree
is 15,10, 12, 11,20, 18, 16, 19. Which one
of the following is the postorder traversal of
the tree?

(A) 20,19,18,16,15,12,11,10
(B) 11,12,10,16,19,18,20,15
(C) 19,16, 18,20,11,12,10,15
(D) More than one of the above
(E) None ofthe above

How many distinct binary search trees can
be created out of 4 distinct keys?

(A) 8
(B) 24
©) 14

(D) More than one of the above
(E) None ofthe above

[=] 35 m]
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90. ST S H, A |1 IUFT Ueh IS H VH e 2l
T NS H AR aferen ?

(A) =m@isuge

(B) gmisugs

(C) 3t Tow

(D) Suer i & U A st
(E) Suded & =g 7

91. ureftram siftrsafaa 10 5 + 60 6/ * 8w gedieh

A et uRuT

(A) 142

B) 213

(C) 284

(D) Sudea H A Uk A AferR
(E) Suger & | g 7

92, T Hqferd AT g1 H, Tk 1S % Q) 3u-g@i

1 7S A gEd e o oFR T B oA 8|
(A) 2
B) 1
<€ 0
(D) Sudea AU A 3ifren
(E) sugea i@ g a8
93. faferfiaa st w1 srseye v -
inta[]={1,2,3,} *p;
(A) ST
B) 3
(C) wemmR
(D) 3w & & U @ s
(E) sugea i@ 78
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Har | fa=ma a, b, ¢, d 21 afe smu o=
d, ¢, b, a ITH T AR &, Al HTUh! FHH A FH

(A) 2 Freua e 3 Sg
(B) 3 = s 3 e
(C) 4 forcim siv 4
(D) T it & o @ ot
(E) Suder @ & whig &

TS T TRA I SHA R
(A) N

(B) Nlogn

(€) N?

(D) e @ TH A o
(E)  vuer & & g i

MG T A W R gawa 15, 10, 12, 11,
20, 18, 16, 19 &1

fraforRaa 3 & o @ & o dreaR 2aEa £ 2
(A) 20,19,18,16,15,12,11,10

B) 11,12,10,16, 19, 18, 20, 15

©) 19,16,18,20,11,12,10, 15

D) v A ol

(E) Suger # & hig &

4 ST AT T § T ST T A
T & SATC ST Hhd 8 7

(A) 8

(B) 24

©) 14

(D) o i vh @ o
(E) Suder® & whig &
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98. #include <stdio.h> 101. Merge Sortis an example of which algorithm
int main() design paradigm?
{ (A) Greedy
inti=5,j=10,k=15;
printf(\"%d \", sizeof(k /=i+j)); (B)  Divideand Conquer
printf(\"%d\", k); (C) Dynamic Progr ing
return O;
} (D) More than one of the above

Assume size of an integer as 4 bytes. What is

the output of above program? (E)  Noneoftheabove

(A) 21
(B) 41
(C) 415 102. How many edges does a spanning tree of a

aph with N vertices have?
(D) More than one of the above SHp

(E) None ofthe above (A) N

: . . (B) N-1
99. Which ofthe following statements is true about

. o
Big-O notation? (C) N(N-D/2

(A) It represents the lower bound of an

algorithm’s runtime. (D) More than one of the above
(B) It represents the upper bound of an
algorithm’s runtime (E) None ofthe above

(C) TItrepresents the average runtime of an
algorithm.
More th. f'th
©) ore than on of the above 103. Which of the following is NOT a graph
(E) None oftheabove traversal algorithm?

100. Which of'the following is NOT a step in the (A)  Greedy

Divide and Conquer algorithm? .
(B) Divide and Conquer

(A) Combine
(B) Conquer (C) Dynamic Programming
(C) Divide
(D) More than one of the above
(D) More than one of the above
(E) None ofthe above (E) None ofthe above

O}H0]
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#include <stdio.h>

int main()

{

inti=5,j=10,k=15;
printf(\"%d\", sizeof(k /=i+j));
printf(\"%d\", k);

return O;

}

AT ST foh quier o1 SRR 4 a3 3| SURieR
ST ST TS FAT 8 2

(A) 21
B) 41

< 415

(D) ST @ @ o
(E) Suger & 8 hig T

forT—af Aeym % SR | Fafeiea § | S @
HUTHAR?

(A) 9 uemiem & WergH <t Fere i &
ufafRea s 21

(B) Ig UeTIeW o THCTSH hl FUd Ei|T i
ufaffea a2l

(C) IZ Ush UemMiRem & 31tHd U &1
yfaffrea s 2l

(D) Suged W UH | AR

(E) Sudwd & =g 7

FrafeRaa # & S a1 feargs U wie eiiem
HITOITEE?

(A) v

(B) i

(C) fawm=

(D) SugeH W UH | AR

(E) Suger & | g 7
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Merge sort ferer uermfem femme ufewm =t u
ISR ?

(A) Greedy

(B) Divide and Conquer
(C) Dynamic Programming
(D) Fwedem it & v @ o

(B) 3o o & g T

N viii aret 7 o et qu et o o feem @ €2
(A) N

B) N-1

(C©) NNN-1)2

(D) Sude # A U @ 3ferw

(B) 3o ® & g T

Frrferfiaa & & A T et Teiem T 3 7
(A) Greedy

(B) Divide and Conquer

(C) Dynamic Programming

(D) wedem it & v @ o

(B)  3uder o & g T
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104. Which of the following is NOT an NP- 107. Which of'the following is a type of operating
Complete problem? system?
(A) Traveling Salesman Problem (A) Real-time operating system
(B) Boolean Satisfiability Problem (B) Embedded operating system
(C) Shortest Path Problem (C) Network operating system
(D) More than one of the above (D) More than one of the above
(E)  None ofthe above (E) None ofthe above

105. Which ofthe followingis an advantage of using 108. Which of the following is NOT a memory

? . .
arrays: management technique used by operating
systems?
(A) Constant time insertion and deletion 4
(A) Paging

(B) Ability to store elements of different

data types (B) Segmentation

(C) Random access to elements using an

index (C) Fragmentation

(D) More than one of the above (D) More than one of the above

(E) None ofthe above (E) None ofthe above

106. Which of the following is NOT a basic 109. Which of the following is a file system

operation performed on a data structure? commonly used in operating systems?
(A) Encryption (A) NTFS
(B) Deletion (B) FAT32
(C) Insertion (C) HFS+
(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above

(=51
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Frefeiem # | @i wt NP-qut a@en T8 8 ?
(A) Safem Hew wae

(B)  ferm wgfe wwean

(C) g™ uy guEn

(D) Sudera # @ U @ st

(B)  3oder o & g T

Frafeftaa # @ =19 a1 | &1 ST A & e
27

(A) e ama ufafe o feenum

(B) faftm Ter yehRl & et B T w R
&I

(C) 3o o IUENT Shleh Acll ok ATG ook Ugdl
(D) Suge W UH | AR

(B)  3uder & g T

FreferRea & @ = a1 2o S W R s aen
e ATRIA T 2 2

(A) REm
(B) femimm
(C) uffrem
(D) oo § & v & i

(B)  3oder o & g T
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107. FafeRaa # @ A AT feen o1t TR
27

(A) Real-time operating system
(B) Embedded operating system

(C) Network operating system
(D) Suge W UH | AR

(B)  3wder o & g T

108. FrefoiRaa # & i it sRfen freen gr suam
I ST ST WA TS Tehieh T8 8 ?

(A) ARm
(B) favem
(C) fora=m
(D) vwdem & T & ot

(B)  3uder & i T

109. FfeRaa o | %im @ W fren am=E:
JioRfen fereen & suam feRen ST 2 2

(A) NTFS
(B) FAT32
(C) HFS+
(D) swjw # & v @ it

(B)  3oder o & g T
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110. Which of the following is NOT a type of 114. What causes thrashing to occur?
interrupt?

(A) Excessive paging activity

(A)  Hardware interrupt (B) Insufficient disk space

(B) Memory interrupt

(C) Software interrupt

(D) More than one of the above
(E) None ofthe above

(C) Hardware failures
(D) More than one of the above
(E) None ofthe above

' ' ' 115. Consider a system with a total physical

111. Whatis apage in paging? memory of § GB and total virtual memory of
(A) A fixed-size block of virtual memory 16 GB. Ifthe system is using 6 GB of physical
memory and 10 GB of virtual memory, how

(B) A fixed-size block of physical memory much memory is being swapped out?

(C) Atype of memory allocation (A) 2GB
(D) More than one of the above B) 4GB
(E) None ofthe above ©) 6GB

112. Inasystem with a page size of 4 KB and a (D)  More than one of the above

physical address space of 64 GB, what is the (E) None ofthe above
number of bits required for the page offset?
(A) 10bits ) ) )
116. How is the TLB typically organized?
(B) 12bits
) (A) Asadirect-mapped cache
(C) 14hbits

(B) Asanassociative cache
(D) More than one of the above

E N fthe ab (C) Asaset-associative cache
one of the above

(D) More than one of the above

. . . E) N f'th
113. Whatis a segment base in segmentation? E) one of the above

(A) The starting address of a segment in

physical memory 117. Which of the following is a common file
(B) The starting address of a segment in operation?

virtual memory (A) Create
(C) The ending address of a segment in (B) Delete

physical memory (C) Rename

(D) More than one of the above
(E) None ofthe above

(D) More than one of the above
(E) None ofthe above
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(A) TEIRFR=

(B) wwdigere

(C) wiFam =

(D) Sude H A TE @ Afeen

(E) Suger & | g 7

11S.

aNm A dm R g ?

(A) THT THN 1 Uek FTvaa ST o1 satieh
(B) <iiferer ondt skt wek fAfosra a1mer o1 scten
(C) Wt 3AEE i Ueh UehR

(D) Sudw H U TF | AAfew

() 3o d @

4 KB S 3R 31 64 GB ¥ifdeh uar worH amet
Teren 1, U atftreie 3 fou sTmavass foea &t we
FR?
(A) 10 faem
(B) 12fwem
(C) 14 fuem
(D) SugeH | UH | AEH

(B)  3oder o & g T

117.

o H e snem N g ?

(A) vitfoes vt # foret T w1 TRives U
(B) adater AEI H Uk TTHE 1 URIYR ar
(C) vitfores vl o fereht wie = ifom uan

(D) Sudw H A TF & sifem
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(A) sreaters afsm nfafater
(B) 3w fewn wom

(C) wrserm foreeran
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8 ielt ST et argare WA 16 Sieh 81 afe feren
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(A) 2=t

(B) 4=t

(C) 6t

(D) o it & v & ok
(E) Suger & 8 hig T

TLB it 31 wmr=ra: fore serr feran st g 2
(A) weag-8u forg g HvT ok wU A

(B) Uk TEERTt 9l o wUH

(C) Ve-uefeufea &9 wad

(D) Sude H U U @ Afh
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118.

119.

120.

= |V

Consider a disk queue with requests for I[/O
to blocks on cylinders. 98 183 37 122 14
124 65 67 considering FCFS (First Come
First Served) scheduling, the total number of
head movements is, if the disk head is initially
at 53 1s?

(A) 640
B) 620
(C) 630

(D) More than one of the above

(E) None ofthe above

Thread shares with other threads belonging
to the same process its

(A) threadID

(B) program counter

(C) code section and data section
(D) More than one of the above

(E) None ofthe above

Which of the following is NOT a type of
DBMS?

(A) Relational DBMS

(B) Object-Oriented DBMS
(C) Sequential DBMS

(D) More than one of the above

(E) None ofthe above
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In arelational database, what is a primary key?

(A) Akeyused to uniquely identify each
record in a table

(B) A keyused to establish relationships
between tables

(C) Akeyused to sort records in a table
(D) More than one of the above

(E) None ofthe above

Which normal form ensures that every
non-prime attribute in a table is fully
functionally dependent on the primary key?
(A) First Normal Form (INF)

(B) Second Normal Form (2NF)

(C) Third Normal Form (3NF)

(D) More than one of the above

(E) None ofthe above

Which SQL command is used to add new
rows to a database table?

(A) ADD
(B) CREATE
(C) INSERT

(D) More than one of the above

(E) None ofthe above
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Toretett W st o feag 1/0 o S0 o 91 T
ferr s feem 1 98 18337 122 14 124
65 67 FCFS (uget 31ail uget utel) IRt o
foam =d g, 3 qoHe &l e dEm F g, 9
e e gE A S3mE?

(A) 640

B) 620

(© 630

(D) Suged W UH | AR

(B)  3wder o & g T

Thread 3%t ufskan @ Gafea 374 threads s @
AT SRR T T 21

(A) =

(B) ™ @SR

(C) <hI ITH 3R 2T ATHRT
(D) e i & o & i
(B) Sudew & & g 7

fraferaa # & S @ DBMS &t SR T& 8 2
(A) Relational DBMS

(B) Object-Oriented DBMS

(C) Sequential DBMS

(D) 3Sude ¥ A U @ 3iferw

(E)  vofer & & g i
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AtfeteRt § ek Rehis

TR St o foTe Su=i <Rt ST arelt et
AfeteRtaT o sra Hag

(B)

(C) o ot Forer 3 vt wifé e

¥ oo frn 2
TR i 9 T A sl
Suger 4 B g T

(D)
(E)

ThiF |1 | &Y 98 GATved ot g foh aforent &
Tk TR-9eH s mefie $eit W gft e
HAHhR wU A AR @ ?

(A) ugeanEm= Y (INF)
(B) wmuamm= &y (2NF)
e wmea &9 (3NF)
Iuger | § U | It

SUYer H A g T

©)

(D)

(E)
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(B) =
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124. Which of'the following is a disadvantage of 127. Which device is used to connect multiple

using a distributed database system? devices within the same local area network
(LAN)?
(A) Improved data accessibility
(A) Router
(B) Increased data security
(B) Switch
(C) Datainconsistency
(C) Bridge

(D) More than one of the above
(D) More than one of the above

E) N fthe ab
(E) one ofthe above (E) None ofthe above

125. Whatis the primary function of a router ina 128. Which protocol is used to send email over

(')

computer network? the Internet?
(A) To connect devices within the same (A) FTP

network

_ (B) SMTP
(B)  To connect multiple networks together
(C) HTTP

(C) To filter incoming traffic based on IP

addresses (D) More than one of the above
(D) More than one of the above (E) None ofthe above

(E) None ofthe above

129. What is the purpose of a subnet mask in

TCP/IP networking?
126. Inthe OSImodel, which layer is responsible . . .
for routing and forwarding data packets? (A)  Toidentify the network portion of an
IP address

(A) DataLink Layer
(B) To identify the host portion of an IP

(B) Transport Layer address
(C) Physical Layer (C) To convert IP addresses into domain
names

More th, fthe ab
®) orethan one ot e above (D) More than one of the above

(E)  None of the above (E) None ofthe above
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(A) SERAUEH

(B) wEiggsagen

(C) e rETaa

(D) e @ & v & sifirm

(B)  3uder o & g T

TR ATk U I HT MATHeh T FA 2
(A) % HIR ST o AT & foru a8t Aeaeh
(B) UeIfreR Aeah i AeA % foru ueh T

(C)  amamet 3feen =t Rt e 3 Forw st
w1

(D) Suged W UH | AR

(B)  3uder o & whrg T

OSI model #, F7 ¥t ud 221 Gohe T & FA
3R 3 fea = & foro Rimer 22

(A) e feres
(B)  greHr e
(C) wifderwa
(D) Sudwa ¥ A U & e

(B)  3uder o & g T

13/HV/M-2024-26/HS-526-E

39

GET IT ON
Google Play

127. e oleher oRan eaeh (LAN) o SR g feamgat
I ST ok foru fore feame® s suam feran sman 2 2

128.

129.

(A)
(B)
©)
(D)

(E)

WX

fe=

el
TR 9 T A s
Suger 4 B g T

TEE W IHA W o foru form Tieienier ot saam
s ge

(A)
(B)
©)
(D)

(E)

FTP

SMTP

HTTP
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(B)
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130. What is the maximum data rate of Bluetooth

version 5.0?

(A)
B)
©
D)
()

131. Which of the following is a software

1 Mbps
2 Mbps
5 Mbps
More than one of the above

None of the above

development life cycle model?

(A)
(B)
©
(D)
()

132. Which of the following is NOT a software

Waterfall model
Agilemodel

Spiral model

More than one of the above

None of the above

development requirement?

(A)
(B)
©)
(D)
E)

Functional requirements
System requirements
Physical requirements

More than one of the above

None of the above
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133. What is the main difference between
verification and validation in software testing?

(A)

B)

©

(D)
E)

Verification ensures that the software
is bug-free, while validation ensures
that it meets the requirements.

Verification is done before coding,
while validation is done after coding.

Verification checks if the software is
built right, while validation checks if the
right software is built.

More than one of the above

None of the above

134. What is the purpose of a software prototype?

(A)

B)
©)

(D)
(E)

To serve as the final version of the
software

To replace detailed documentation

To speed up the software development
process

More than one of the above

None of the above

135. What is the primary goal of software

engineering?
(A) Towrite code efficiently
(B) To develop software that meets user

©)

(D)
(E)

requirements within budget and
schedule constraints

To develop software with the latest
technologies

More than one of the above

None of the above
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130.

131.

132.

= |V

ST TRt 5.0 i Stfereham SR F R ?
(A) 1Mbps

(B) 2 Mbps

(C) 5 Mbps

(D) 3ude # A UF A Al

(B)  3oder o & g T

Frafeiiaa o @ =i a1 atweaR o siaa sk
uEAd?

(A) wEHEA
(B) stz Aig
(C) wftwutsa
(D) Suder # 8 U A s

(B)  3uder o & g T

FrafeiRaa o & SiF o SiveaR o/ snavaerar
e

(A) AR SFTAYIHRATT
(B) Tereen amayaehand
(C) viife sTavaean
(D) Suder # 8 U A s

(B)  3wder & g T

13/HV/M-2024-26/HS-526-E

41

GET IT ON
Google Play

133. @iweamR qfierur #§ Tt 3R e & &=

& SR T8 ?

(A) A Tg GHTverd et § foh aiteamr sr-
e 8, Sk Teara ag glafeea s 2
fer 91 STTarvareRaTaTl SRl X AT 8

(B) OcauA uge fera ST 2 shifSm ok sl HemaA
Toran T 2, Safer eamua it sh e feran
A R

(C) "I St g for o= Aicreasr wg alieh
T T 2, Afeh TeauH I8 Sirean ¢ 6
T T AT AT ST @
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(E) udwd & =g 7

135. wiTeamR S s i dea F g ?

(A) FTeTaTgEe s forem

(B) VR wiTeaeR it FrehTe ST Sl aete 36 Hiek
LT <ht STTAYIEHATY TR N[ Taielt
EeUY

(C) direasR fererfda et Teiaan deriich

(D) Sude® W UF | Afeh

(E) 3uderdi & whig &

e [P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

136. Which of'the following is a pillar of OOP?
(A) Inheritance
(B) Encapsulation
(C) Abstraction
(D) More than one of the above
(E) None ofthe above

137. Which keyword is used in Java to implement
inheritance?

(A) extends

(B) inherits

(C) implements

(D) More than one of the above
(E) None ofthe above

138. What is the access specifier used to make
members of a class accessible only within the

same package?
(A) private
(B) public

(C) package-private
(D) More than one of the above
(E) None ofthe above

139. Inheritance in OOP allows a class to:

(A) Inherit properties and behavior from
another class

(B) Create instances of another class
(C) Override methods of another class
(D) More than one of the above

(E) None ofthe above
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What is the purpose of HTML in a web
application?

(A) To define the structure of web pages
(B) To style web pages

(C) Toadd interactivity to web pages
(D) More than one of the above

(E) None ofthe above

Which of the following is an example of a
server-side scripting language commonly used
in web applications?

(A) HTML
(B) CSS
(€) C+t

(D) More than one of the above
(E) None ofthe above

What is the computational complexity of the
halting problem?

(A) O(1)

B) OMm)

(C) Notcomputable

(D) More than one of the above
(E) None ofthe above

Which of the following is NOT a component
of a Turing machine?

(A) Inputtape

(B) Output tape

(C) Controlunit

(D) More than one of the above
(E) None ofthe above
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136. TfeRaa @ s OOP &1 Uk TWH 8 ?
(A) Inheritance
(B) Encapsulation

(C) Abstraction
(D) Sude® W UH | Aferh
(E) Suder & hig T

137. Java® inheritance 3l R &t o foTe foret diae

1 I feRaT ST R ?
(A) extends
(B)
©
(D) 3Iuge H § T | AR
(B) 3o @ g

inherits

implements

Rt class 3 member Rt Shetet S kst o HiR
B uga A a % for fore weree waftmrer s
IuA fRa S R ?

(A) private

(B) public

138.

(C) package-private
(D) SugedH W UH § AEH
(E) SudsadaHE Tl

139. OOP# inheritance U a1 sl 7@ T <ht SFATT

qe:

(A) Inherit properties and behavior from
another class

(B) Create instances of another class
(C) Override methods of another class
(D) o i & v @ T

(B)  3uder o & g T
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e UfwetehyA 4 HTML s Seva s g ?
(A) Web pages @t serT ot afeia s

(B) Web pages 1 wrget &3 3 forg

(C) Web pages & swfsramiici sigd 3 o
(D) swja @ v & it

(B) Sudew® 8w 7

FrfeiRaa ® € @M |1 web FTTER § AmT:
IUIRT i T4 Gt server-side scripting ST
T IR 2 ?

(A) HTML

(B) CSS

©) C++

(D) 3Iuged H 9 T W TR
(B)  3oder o & g T

ifeeT TuEa &t HEHLIHA AeeTdl 18 ?
(A) O

(B) O(n)

(C) Notcomputable

(D) Fodam it & v @ o

(B)  3wder o & g T

FrAfoTRea ® § ShiF S0 I o1 Tk @ 8 ?
(A) gz

(B) @m3ege ey

(C) ez

(D) e i & T & T
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EiE
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144. Which wireless communication technology is
commonlyused inIoT devices for short-range

communication?
(A) Bluetooth
(B) Wi-Fi
(C) 4GLTE

(D) More than one of the above
(E) None ofthe above

145. Which of the following is an example of an
IoT protocol used for device communication?

(A) HTTP
(B) FTP
(C) MQTT

(D) More than one of the above
(E) None ofthe above

146. Which of the following is a subfield of AI?
(A) Machine Learning
(B) Robotics
(C) Natural Language Processing
(D) More than one of the above
(E) None ofthe above

147. Which ofthe following is a supervised learing
algorithm?

(A) Decision Tree

(B) K-means Clustering

(C) Reinforcement Learning
(D) More than one of the above
(E) None ofthe above
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Which of the following is NOT a common
type of E-Commerce model?

(A) Business-to-Consumer (B2C)
(B) Consumer-to-Business (C2B)
(C) Consumer-to-Consumer (C2C)
(D) More than one of the above

(E) None ofthe above

Which of the following is an example of a B2C
E-Commerce website?

(A) Alibaba
(B) Amazon
(C) Google

(D) More than one of the above

(E) None ofthe above

Which of the following is a multimedia
authoring tool?

(A) Microsoft Word

(B) Adobe Photoshop

(C) Adobe Flash

(D) More than one of the above

(E) None ofthe above
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144. = ¥ AR SR T FAR W BIE g8 &
Fa < fo1g [T Iuahutt § U= &t AT 8 ?

(A) =

(B) =i~

©) 4shiwerd

(D) wodam & T & sl
(E) suger ©f & whis T8

145. Fmafaiaa @ @ == a1 feaga g=m & foe saam

foru ST et [0'T SeTehiet ShT Uek IQTEA0T R ?
(A) HTTP
(B) FTP
(C) MQTT
(D) Suder d AU A sk
(E) udwd & =g 7
146. F=fefgad @ wman Almisug=g?
(A) uvia @i
(B) d=ifes
(C) refaes wmsn wewerwut (NLP)
(D) Suger i & TH A st
(E) Suded & =g T

147. freafeRaa @ @ = @ vwdafa@ (supervised)

e Gemmivem 2 7

(A) Decision Tree

(B) K-means Clustering
(C) Reinforcement Learning
(D) wedem it & v @ o
(B)  3uder o & g T
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FrafeRaa & @ == o 3-wiad uiee s g
TR 2 ?

(A) =IaE™ | IuHEFT (R2H)
(B) Sutiiern & o™ (Hi2s)
(C) SuwierT-H-Iusrer (Hi2Ht)
(D) Sudea ¥ | U | AT

(B)  3uder o & g T

Frafafaa @ @ =9 B2C 3-wmd a=amge &
GO E?

(A) rcfemn

(B) srirm

) T

(D) v § & v & i

(B) 3o o & e T

Frmaforfian & i Ao T T 7
(A) Wi TS

(B) TSmwRmT

C) vEmwm

(D) oo § & v & i
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6. 3@ Uz F IW fFuifm wam A sum sEwAiE sEva fod | Twa-gfeast w ik $3 7 o)

7. 9% A & 9 IW - (A), (B), (C), (D) 3t (E) %5 W &3 T )| 379 @ v we@ UL HaA Th ST F YA A
TR 3T U W 3ifRa HI| STURT FA UTHIH MUk FHT IR U=k A 3ifeha wdt 3w W fasfx )

8. ITWEEHATIEH TR G AN E R - A), (B), (©), (D) R (E) 17w % 3w 3 % forg s
AU UHG T HEA Th I kI HIel/Helt T F SiA-uise 94 | fafEa w21 ge@w uvh & o Fae s s W@
T 3 IV U IR U # Fafga H) o9 SR U | afg v uva & fore v @ sifes g | fom o €, @ stueet
IR AT AET AR I 99E # IR B e F0 & fou daw s/l @l & aia-dize 97 w1 @
yain &I fedt Wt aER ®1 FE-FH2 Agar yREdd arw T@fl )

9. =fe foreht wya @ frell wwm Y F1E ggur 1 qeATeESd TR A IR @, @ vl S qun R wura | @ sinsh
FUTR 1 AFS AET JET |

10. wyA-yftaet | Hig U= WIS AT AT HIAT 7T 2| TT-GfEaaht 31X 3T u=eh i qlien srafar # udien wa= | argt way
T @ W wlign & AEGE W IW U9F AYE w1 Aq W9 d| SHF 918 AU HUA UvA-giEaswn swa e @
W & argafa 21

11. W argev # 9 Rt v &1 off urem 78 R W Smu W e & fRwHar wiarg £ S awdt @ steen sue gus
fa=n w1 " )

12,  sreeff 3w uaek i arut sufeufa # Self Adhesive LDPE Bag ® gft @t @ O /Hiet %@ & 3udia & udlen wa
& BIS|

526 Note : English version of the instructionsis printed on the First Page of this Booklet.
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